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COMMERCE
atlldry
PAPER-II
UaAYA-I1 .
Note :— This paper contains fifty (50) multiple-choice questions, each carrying two
(2) marks. Attempt all the questions.
CAl® - 2L WL g4 YO Otg[aactﬂq uedl B, e354L A e V. ol o Uil FUe
L.
1. Somebody picked-up the following headlines at random from newspapers in
India and matched them under the broad categories of factors of environment.
Which of the following matching is correct 2

- Headlines ’ Factors of Environment
(A) “Non-resident Indians’ Investment Politicat
Incentives”
(B) “Mayawati resigned from the post Social
of Chief Minister”
(C)> “PM will address 58th UN sess1on Diplomatic
- in New York’ .
- (D) “IT solutions have encouraged BPO Economic
in India.”

UL ddHi- Wil 248 Alddl AL st A sél sqi v m{[qwm e
Yool WA A Asul edi. A ULl 5§ AsE W © ?

s yyfaa-u wRoal
A) AR i) B Ra eudlHiiq iU
WAL Hlcllse
B) Hva ueue a3 wadla alrs
g AP ' o
(C) ~3ulddi dlondd 3ol ue | Yol
© ueuA asald delad o '
@) ol ol laii (ol widAn - s

GRIRLY A R xwr

2srildioru Gudoell 3ig Gl

gl Hikilerd ¥4 8 | |
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2. In the organisational structure of the WTQO the highest authority is :
(A) Board of Directors
(B) Ministerial Conference
(C) General Council
(D) TRIPS Council
Qs Awi A2 AL el g Adi qlagd HeA S :
(A) duas sy
(B) ueurii-l uRne
(C) #te 51G=fla
(D) TRIPS-s1G0l4,

3. Which of the following is not the fundamental right under Indlan Consti-
~ tution? :

(A) Right to equality

(B) Right to freedom of religion )

(C) Right to life and personal property

D) Right to move within and outside the country

ctcly sl 1A oeuda 59 susid 10101@ ARSI 4 AR ? | -
(A) Wil x1fas12

(B) wlls qd>uvl w12

(O @At A AUBdd Pesd auadl =RsR

D) 2l w7 B GelR ¢AUL FaUL AR

4. The Secuntles and Exchange Board of India (SEBI) is a regulatory body for
keeping control on :

(A) Foreign Exchange (B) Capital Market .
: (C) Inflation (D) Public Deposits

Qoll’ RsIRA» Avs Asuder oli§ il SSlai) A Rumsidl e 8 % e
YR 2ig 4 B : ‘

Q) [zl ¢l B) Y8l oz
(C) goudl (D) 28R wued
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5. Which of the following statements is not true ?
(A) Capital market refers to the market for long-term funds .
(B) Fiscal policy of the government operates through the budget -

(C) The Narasimham Committee recommended specially for foreign trade
reforms

(D) A Stock Exchange is a market where securities are bought and sold
A2 oweuda Rarl A s A Wg S ?

(A) 38l oar 3 aiolt duaurdl 3l »idg wwM B

B) sl AR AR aF2 gL el YU 8

(€) R cnwidl Yl vid-u Ya-l AR Rl Y-l e oy

D) A2 o A Ag A O ¥ ol wlwlxig wle-AuR iy 8

6. When a holding company has sold goods to its subsidiary company and goods
remain unsold in the books of subsidiary company, then the profit on the
same is known as :

(A) Unrealised profit | | (B) Net profit
(C) Operating profit (D) Capital proﬁt
g1l was u-dal ola SuedA sua Qi gy A wler e sulen Raed A
A4 2mz WS WL A dl A GuR suddl s A Yoo e -
(A) dl sda sl (B) vl sl
© sl asl D) ¥l -6l
7. The following is not added to net profit for calculating the amount of funds
from operations : | _ i
- (A) Loss on sale of furniture ‘ (B) Goodwill written off /
(C) Profit on sale of machinery » (D) Depreciation on machinery
sflidl Ml eisia elaal w2 Alvmi e (A walda e R

dl :
A) s{lax QuRad qsw-t (B) #igl addl wasl-dl s34
(C) ¥a AR A5 (D) 42 Gu~l 4Rl
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8. Which of the following alternatives is correct with reference to the given set

of information ?

(i) profit or loss on memorandum

(1) the owners of an entity

revaluation of asset is transferred (2) all existing partners

to capital accounts of

(t) profit or loss on dissolution of a
firm is transferred to capital
accounts as per v

(iit) the balance of forfeited shares

account is transferred to

(iv) voluntary shut-down is planned

by
Alternatives :
®
A) 1)
B) (2)
© (3)
D) ) .

(@)
0
3
4)
D

(iid)
®)
(4)
L)
@

(3) profit sharing ratio of all
partners
-(4) capital reserve account

-

()
4.
D)
@)
3

“20edl Al 2uad sul Qsey oy & ?

@ Rasdi-i Brisiul

Yrfeuisdn s138 Gemda

A5l wYAL g5

(z:z) WL Rus qud Geeda

5l 3 s 48l vid

@) ond 234 A vl sudl

(v) Al 6y saL id)

Mely
[Asey :
®
A) (1)
B) 2)
(©) @)
D) @
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9. The recommendation made by the management accountant of a company in
making a make or buy decision is :
(A) Legally binding on the company
(B) Legally not binding on the company
(C) Not important at all to the Board of Directors
(D) None of the above
‘Auiz 539 3 wled’ 2id-l Melu adl cm& susfl-it zmetélq [éawtv[lal IR L] Uells-
213{-1 H
(A) Syl w2 siwzar Fd siadsdl sy
B) $4-l w2 siuzA Fd oiarisdl 4 ARy
(C) Aqwds olis 2 Braga il « deud
D) Guisa s

10. Standard time for manufacturing 100 units. : 50 hours

Standard wage rate Rs. 15 per hour
Actual time taken for manufacturing

100 units , 42 hours
Therefore, the effective wage rate per hour (appx.) would be :
(A) Rs. 16.43 (B) Rs. 14.63
(C) Rs. 17.86 @) Rs. 14.36

Q00 sHidi Gedlert M2+l UHIA AUA : YO sals
UL dde B sais €ls 3L 1y

100 WsHIAL Geulert M2 lAd wIW YUY © ¥R sAls
2uell, wABIS Ade e (A Yo oy ¢
(A) 3. 15.¥3 (B) 3L. 1%.53
(C) 3L.19.¢s M) 3t 1¥.3§
11. When AR and MR curves are straight line sloping downward, total revenue:
will be the highest when :
(A MR>0 (B) MR = 0
(G MR <O (D) MR = AR
¥ UIRUA AAS (AR) A Al wuas (MR) - asl el us a3 QA drs
andl Sld Al g4 s HedH 4 Ul
(A) MR > 0 B) MR =0
() MR <0 M) MR = AR
Commerce—II : 7 ~ P.TO.



12.  Accounting profit is different from economic profit because economic profit
takes into account : .
(A) Explicit cost (B) Marginal cost
(C) Opportunity cost ' (D)_ Total fixed cost
Rl st A 2ulls s sdi e & @ 3 RS st DA AL 45 s oo
ARAIHL A & :
(A) W YSd B) AHid usd
(C) asleus usd: . D) 4 RaR usd:
13.  Which of the following explains the relatlonshlps between changes in all the
inputs and the output ?
(A) Laws of Variable Proportions
(B) Law of Diminishing Returns to Factors
(C) Laws of Returns to Scale |
(D). None of the above
A A4 59 ouoid sl Ruest (Inputs) 3 Gy (output) QAL F§13-L Aoig
AHAN & :
@A) uRad-slld gl [
(B) wanA @ddl d2dl Hua-ll M
(C) WAl ddndl (scale) Geutgrstl aud~l [?tw
D) Gu-u U4 56 R
14. Which one of the following situations will descrlbe a monopoly firm’s output
level to earn only normal profits ?
(A) AR = MR = AC = MC B) (AR = AC) > MR = MC)
(C) (AR = AC) < MR = MO (D) None of these
QA1 4 5§ uRRaU Soareiz WAL AU Geutendl s WeL AP A5 W
9. ax aeld @ ?
(A) AR = MR = AC = MC (B) (AR = AC) > MR = MC)
(C) (AR = AC) < MR = MC) O 21 14 sidua R
15. Statements :
(1) AFC curve slopes down throughout its length and eventually touches
X-axis.
(2) AC curve cuts MC curve at its minimum point.
Which one is correct ?

. (A) Both true_ ' (B) Both false
'f_g) First false and second true (D) First true and second false -
Qi :
@ W Tug Ra vl as Ayelud D3 sogal aadl did A 4 & 4
%‘l&

2) AW WAL as Wid mi-u asn Al agan sl 92 S,
Gulsd g (A 4 sl Ga w8 7
(A) o= Qe wAL 8 B) i) Rl vial @

(C) Mau vig ® A ofly R 8 D) A W A oflyg wig B
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16. * For the purpose of analysis of data which of the following measures is used
to know the difference in the values of variables around which most of the
items cluster ?

(A) Measures of Dispersion (B) Measures of Central Tendency

(C) Measures of Skewness (D) Measures of Cofvax'iability
R Rgdvel w2 02 A4 58 el adiq yedi-l apyRs e udl as 8 ?
(A) HUAAL WUl @®) waadl Raf-u i '
(©) R il (D) usuRad--

17. Read the following sentences :
(1) The coefficient of correlation is independent of the change of origin and
change of scale. :
(2) The coefficient of correlation indicates the cause and effect relationship
between two variables.

Which of the following alternative is correct ?
(A) Both the sentences are correct
(B) Both the sentences are incorrect
(C) First is correct and second is incorrect

~ (D) First is incorrect and second is correct
QAL aisdl aidl : ‘
(1) AsAGELs A WY ddl ya azudll ada 9.
@) usAoluis A MROWN A 512@ v AR culadl Ak Yad B,
42 salda Rsedl U4 sul Rsew wAl & ?
(A) o=l [Qatel WAL 8
(B) o= Ra-il vl 8
(C) wad Rait Wy 8 1A olly Rat uig 8
D) uax Qe wig & A oflg Rai Wy 8 ,

18.  Which of the following sampling schemes falls into the category of probability

based sampling schemes ? '

(A) Simple Random Sampling ~ (B) Quota Sampling

(C) Snowball Sampling (D) Judgement Sampling -

dotarl AR Redd uglaii-l Aeui QA4 L4 5§ wgl-l wudan w3 ?
(A s ugx Fed B) sdiat Resd

(C) iona Redd D) e Redn
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19,

20.

21.

Which of the following requirements is not relevant for using chi-square test ?
(A) Original non-parametric data

(B) Total number of observations must be 50 or more '

(C) No repeated measurements on the same un1ts of observation

(D) Parametric data

28 Tl w2 AAu 4 5 w3ua Guysa -l ?

A) 3a  udfl asy ddl wRd |

(B) 2l adis-idl dval 4o 3 defl ay »33 &y

(C) dagis-ll Msul 4 ydida Wy 4 aal AdA

O) W'l usty Al isSiil

Read the following sentences :

(1) The use of computer in data analysis is at a stage of data processing.
(2) Computer application for interpretation of data is not possible.

Which of the following alternatives is correct ?

(A) Both the sentences are correct

(B) Both the sentences are incorrect

(C) First is correct and second is incorrect -
(D) First is incorrect and second is correct
AL alsdl il ¢

(D) wissisly ulRdl yassami szl Gudial 2 wRdl aBuiswdl A

dosst 9.
2 ™ldl Rsaua w2 slugaavu Gyl wsy -1211
QA1 A4 sul Asew L & ?
(A) i aisul WA B
(B) 6l sl wiel 8
(C) nadt awsy Wy 8 A oflog ausy Wig 8
D) M asn g © A ol alsu Wl &
Father of Scientific Management is : ‘ -
(A) Peter Drucker (B) Charles Babbage

(C) Henry Fayol (D) Frederick W. Talyor
qaufs Al R :
A) Yl §s2 B) Rl oudy

(0 &1 3uiy : M) 3slRs soey. 242

Commerce—II 10



22.

23.

24.

25.

26.

For project execution which requires the services of skilled functional people
and the specialised knowledge of product specialists will call for an
organisational structure known as :

(A) Product structure - (B) Matrix structure

(C) Line and staff structure (D) Network structure

2sflsa guadt ariadl Aldail dar v 1l aid aad ARk AlaviHl
Fui %32 48 dal UlBsedl uHd W2 w3 culdA Ay sy U
YLY ~ ‘

(A) NiSse VLA (B) A5 WA

(C) dlfirl A6 WIF W5AR M) neaf w52
Contingency theory of Leadership was advocated by :

(A) Lewin - (B) Fiedler

(C) Likert (D) Black and Monton
Aged A sArarfl Rl (sl Rgid) u uha

A) adl (B) §lsar

(C) adse ‘ D) ds A-S Hialst

Authority relationship from superior to subordinate within an organisation

.is called :

(A) Division of labour principle (B) Network principle

(C) Span of control principle (D) Scalar principle

HeRelldAHL Gy ARSI v st (A 513 52l Al a4 Aoial salad At saladl
AL NeQ _

A) sfewstil Rgia B) sl Rigia

(©) igu wulel Rgia D) BVazx Rgid

Measuring performance against plans and expected results expressed in
numerical term is called : '

(A) Feedforward control (B) - Direct control

(C) Project control (D) Budgetary control

Yiogell 2 AR wRpuuiq Aselil sl yeuisq Avainl Azl sulag ved :
A) 2R efasu-l 51030 dordl 2iga (B) Hcda vige

(C) Wixse s | D) “%2 gl vigy

Marketing planning is concerned with : .

(A) Planning the amount and the placement of newspaper advertisements
(B) Planning consignment sales contract

(C) Planning salesforce size and deployment

D) Al of the above

oo il AL A1 Aoy 9y B ~

(A) adHtt Wil 2iadl ASUdiql UL AR @A, Al

(B) USdHid QA9 $dly Ui«

(©) A~ Aval A Al Guaiol idle v+t

D) GuUsd suL %

Commerce—I1I 11 | P.T.O.



217.

28.

29.

30.

31.

MRP stands for :

(A) Management Resource Planning
(B) Marketing Research Planning

(C) Manufacturing Resource Planning
(D) Material Requirement Planning

MRP - %24 : |
A) Aoz AR wlHa _ B WwikRa A wulia
(C) ArydsuTa AR reulHia D) WA Asaud-2 wilHy
Customer credit granting decisions should be incorporated into the :
(A) Inventory Control System (B) Accounts Receivables

 (C) Sales Order Entry System (D) Sales Analysis Sysfem

A st ual 2ol Mefdl 1A wsudd 5§ wadi wwal dawii T
Q ? :

(A) Hd-qHin vigy vald (B) Rl aui

(©) @ 8 Aasll el D) AwR yassA ugld

.A person who has the responsibility for development of a new product such

as mobile phone in a firm is called a :

(A) Brand Manager (B) Project Manager

(C) Development Manager (D) Marketing Manager

Woude it ¥l Al Aeigrt As W ¥ AR waeeldl Anari 2ud 8 dd
Aui QA el 2iaviari »ud 8 - ’

(A) Wis AR (B) wFs2 AR

(C) $daudAre A% D) Wil dAx

The most structured marketing problems are likely to be those dealing with :
(A) Product (B) Promotion

(C) Place o (D) Price

Wil Al dy wavidid usl QA wd Asda B ¢

NRREE , (B) Gdx+t

(C) An D) Bua

If the initial outlay is Rs. 5,00,000 and the yearwise cash flows are

Rs. 1,00,000; Rs. 1,50,000, Rs. 2,00,000.and Rs. 1,00,000. The payback period
1s : :

(A) b5 years ' (B) 4 years-

(C) 3 years and 4% months : (D) None of these )

A3%dg 48l AR 3L 1,00,000 €14 2R Ally Ass AAs Ay 3L 1,00,000,
3l. 1,940,000, 3L. 3,00,000 A 3L. 1,00,000 €14 A1 U »id Axy {13 3yt
Ry .

@ wal | B ¥ ad

© 3 ad x-::- YRy @) Al A6 «dl
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32.

33.

34.

 35.

Cost of capital can be considered directly as one of the inputs in computation
of :

(A) NPV | (B) IRR

(C) ARR (D) None of these

{12 ouda A4 A0 Rt I 1S Yl uSdA vtls Al WRetini-t s nya R
ALY _ | A

A) a4l : (B) U 2U.DUR.

(C) .3U.3UR. O) il s dl

Suppose the use of an inventory item is 2,000 units during a 100 day period,
ordering costs are Rs. 100 per order and carrying costs are Rs. 10 per unit
per 100 days. The EOQ will be :

(A) 44.72 Units . - (B) 200 Units

(C) 63.24 Units (D) None of these '
100 ReRtrtl A4 W2 s argrdl a2l 2,000 A5l & A Artl S il
w, i €ls 3L 100 8, 27 A+l dste sawil v AsH €l 31 10 wa B, el
s adl ol A Hogel dRUY, ¢

(A) ¥¥.93 sl (B) 00 wsMl

(C) $3.¥ sl | M) el S5 il

Dividend decision has no relevance with the value of the firm is opined by :
(A) Modigliani-Miller (B) Gordon

(C) Walter (D) None of these -

W+ 3@4 slass i Mely écu H2 it ® Aal wOpUL R A 03
Yool

(A) méloc—ﬂm-{l Mar (B) s
(C) aieer ‘ D) il s «dl
Sentence :

(5) Stock-in-process and prepaid expenses are current assets.

(i) Prepaid expenses and accumulated balance of profit are current assets.
Which of the following is correct ?

(A) Both the sentences are correct

(B) Both the sentences are incorrect

(C) First is correct and second is incorrect

(D) First is incorrect and second is correct

[Qens -

@ d-dwR wd 2= 20006l Ysad vl g Pasdl deul.

@) UGl ysda wal dar Mastant AsBid el oudla g Masdl aruy.
{1 eudaniifl g wy & ? |

(A) ol Rall AL 12

B) oiv Qarl wiel 8

(C) nax [Qsan zug 8 A ol A vig

@) uav Qad vwig 8 24 ofly Ra Wy
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36.

37.

38.

39.

40.

41.

The main focus of training is on :

(A) Management Development (B) Organisation Development

(C) Skill Development D) All of these

el s QAL 4R 3w wa @ - |

A) duaq Qs B) @aada [@Asny

(C) suadl [Qs D) 2 oL ¥

360 Degree device is a tool for : o

(A) Selection : (B) Reward v

(C) Punishment (D) Performance Appraisal

350 iy ugld -ﬂvlvu-ﬂ WA Aswda § ¢ -

A) wiedl (B) %icuie A

(©)  Riau > M) sl yeuisw

Succession Planning refers to : :

(A) Career Planning (B) Replacement Planning

(C) Safety Planning ' (D) Recruitment Planning
GRS 2id ey wiRd syl ved :

A) s1BE 2uui B) ylaiud wq&w

(C) uarmidl suaix D) el suio

Which of the following does not relate to recruitment ?

(A) Application Blank : (B) Advertisement

(C) Interview (D) None of these

4 orendd U4 53 As el WA Asouda Al ? -

(A) YAS (B) °Adid

(©) Aldad Yaisia D) Al S -l

Which of the following can be termed as fringe benefit ?

(A) Salary (B) D.A.

(C©) HRA ‘ D) Bonus
A oeudd 59 ouodn yRsael sé wsy ?

(A) wouR B) rﬁqqtﬂ oy

(C) ®R-eusL ™My D) sl

Which of the following statements is not correct ?

(A) Every currency is money but every money is not- currency
(B) Every currency is money and every money is capital

(C) Every source of capital is Finance

(D) Every use of capital is Finance

QA 534 Qe w3y Aol ?

(A) e3s ua B AR B g e g 2 ya@ el

(B) €35 ud™ W G B A 835 UY A YO B

(C) wsld e3s wld eu ki sd ©

(D) ol €35 Gualal A -uad sl B
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42.

43.

44.

45.

46.

Which one is not included in the capital adequacy norms ?
(A) Unifrom Accounting Practices

(B) Provisions against different types of bad assets

(C) Maintenance of Tier-I and Tier-II capital

(D) Maintaining adequate cash in Bank

4ol vl 28 wugsHi A aendadil A4l e qdl el ?
Ay wun [Bawel Al

(B) Sl anal dius gel-ogel a5+l Masdl 210 dou v sl
(C) AdR—1 3id AR—2 e ¥33 {8l Ao

D) %33 wuani Ass olsul Aqasl

For which one type of the following category of assets, banks normally provide
zero risk weightage ?

(A) Standard Assets (B) Doubtful Assets

(C) Loss Assets ; (D) Sub-standard Assets
g AvHAl QoS ot A oguda st ustl Rdasdl w2 AN @ ?
(A) wu[@ts Piasdl B) Uustysd Masdl

(©) vie aadl Masd . D) e wuls Masdl

Which one of the following is not covered under universal banking ?
(A) Deposit taking and lending

(B) Trading of Financial instruments and foreign exchange

(C) Capital Budgeting

(D) Investment Management and Insurance
wdeilRs/Qsacul dBami 02 oeudaxidl Al wude adl ol ?

(A) AWM A Rnual

(B) -uelifld waxl wa Qe g[%tuwetwt AR

(C) l¥SI - &loL

D) Wst AAEt s {1
Which one of the following falls under the category of development bank ?

(A) RBI (B) UTI

(C) NABARD ' (D) None of these

‘Asn ds’ di A0 ouda A4l wuda ad i ? S
A) wur.oll.2ugs. ' B) y.4.2u8.

(C) ~ueus D) il Asye il

Which one of the following statements is true ?
(A) Balance of payment is balance of trade
Balance of payment is an excess of imports over exports
(C) Balance of payment is a statement of exports and imports of visible as
well as invisible items
) None of the above

4))
(A uda sy R 0y & ?

T @A) duza-ll gaw A vl ga @

(B) Azl gat 2@ wuuidAl Msi vt qﬁuu
(C) Aazall dal A g 2 v Adl drgviivi vud-Rsiag wis 8
D) GuAsd A5y il
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47. Which of the following is not included in the Singapore issues with regard
to WTO ? ,
(A) Investment -
- (B) Competition policy
(C) Transparency in government procurement
(D) Agriculture ’
[Rsq awr ddsu Aeelui By aal ouotdiat QAaiel Sl ¥ adl 4ol

(A) s ‘ B) sdnd -l
(©) AR AL wedsdl D) wdl
48. The Cancun Ministerial Conference failed due to absence of consensus among
members : ,
(A) TRIPS (B) TRIMS .
(C) FDI (D) Subsidies on Agriculture
yeuini wdimfaru Mouqzﬂ 3yt videll o{la WRue Fsa ad -
A) A B) A= ~
(C) ssl2us o D) Al el orllsl

49. Which of the following statements is not true ?
 (A) Globalisation means integration of national economies

(B) Electronic commerce is creating a new trading order
(C) Controls on capital account transactions have promoted capital ﬂows
(D) UNCTAD is a forum for discussion on trade related matters
QA oeuda sy ad Wig ® ?
(A) Axlsaa ed oget oget WAL RS ey yuaqt
B) SAsgiMs AR 22d Adl UsIRwUL AR AR
(C) M8l vuctfly as1dl uR vigun SIRA Y8l udle Ja ¥
D) A addl cotdi-ll 2l Wl g »2d Glsais

50. Which of the following organisations is authorised for issuing the certificate
of origin for all products ? ‘
(A) Central Silk Board '
(B) Coir Board
(C) Directorate General of Foreign Trade
(D) Development Commissioner for Handicrafts
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